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Instructions : a2zSubjects.com
(i) All questions are compulsory
(i) Two sections are in question paper - Section ‘A" and B’

(iii) Section-'A’ contain objective type. 5 questions from Q No I to Q .No 5. carry
5 marks each and each question is subdivided into 5 questions. each catries 1 magrk,

(iv) Section-'B' contain Q. No. 6 to Q. No. 26. Out of which question Nos. 6 to 10 carry
2 marks each, Q. Nos. 11 to 14 carry 3 marks each, Q. Nos 15 to 21 carry 4 marks
each and Q Nos. 22 to 26 carry 5 marks each

(v) Question Nos. 6 10 26 has internal option

{vi) Draw neat and clean labelled diagrams whenever required.
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Sxlmd
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(a) 18 b 14
{¢) 6 (dy 7
(ii) 2% =8 > log,8 M - a2zSubjects.com
(a) 3 (b) 8
(cy 6 (dy 9

i) gk U={.23.4.50) ot A={240] L A (L) W am -

(a) {L3.5) () {2.4.0}
(e) {23} (d) L3450}
{ix-)agﬁmi:mﬁm:ﬁﬂmu‘mﬂmt—
(a) 270° (b) 180°
(c) @ wHE™ (d) 360°
(v) i 25-30 w1 @t weEm e - a2zSubjects.com
(a) 25.5 (by 275
() 305 (d) 285
a2zSubjects.com

Choose and wnte the cormrect altemative

(i) If 3y+10=128, then the value of v is -

(a) 18 ) 14

(¢) 6 dy 7
(i) 2} =8 log,8 will be -

(n) 3 (bh) 8

(c) 6 (@ 9
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(iii) If (7=0,234.56) and 4={2.4.6} then the value of (4')" is - 3 Rad mt Aoyl b a2zSubjects.com 5 1ag
(a) {1.3.5] (b) [2.4.6] a2zSubjects.com (i) s feed md b g g on gz AT ¥
(c) {123} (d) §1.2,3.4,556) () Vg (0, N, wylaom Yy
(iv) The sum of four interior angles of a quadrilateral is - (i) ubr It e fl-‘l}ﬁ W fa w3 o o 7
(a) 270° (by 1800
- grr o
{c) Two nght angle (d) 360° tivy famu wyey f(] [II; Y
(v} Class mark of the class 25-30 is - T /
(a) 25.5 (by 275 (v) Iwdh fopn oAy Al bt wvar 2 o frga #rm
(c) 30.5 (d) 285 .
L a2zSubjects.com
= a2zSubjects.com Fill in the Dianks
2 #A W TEE 5%1=5 (i) A set containing no element is called an set.
wu ' . (ii} Poinis (3. -3) lies in the quadrant.
. o ¢ .
A1) aTmhatet (3) W L (1) IT the diagonals of a paraliclogram are equal, then it is a
(i]i] 'ﬁTF?l W m& (H} qm‘ {i'l"} .'ilf"illj_', I-}l-'r,cc :(I- E%.:Eﬁj
[(iv) HAfram o (z ¥ ar@ %
(y) =i a9 (%) ez nm 2 (v) Three medians of a triangle arc cqual. The triangle is an
triangle.
%
(w) i gl
Match the column a2zSubjects.com
Column A’ Column 'B' o e 5x1=5
(i) Varahmihir (a) Pati Ganit () @it qubs awafers semd ¥ ) )
(ii) Shreedharacharya (b) Royal Society (i) logya-lou, b1  a2zSubjects.com ks :
S . e ' Panchsiddhantika
(iiiy Swami Bharti Krishna Teerth (c) ' (iii) Yfw e woww areb=c & T W odm ¥ qu
(i\"] Shrinivas Rmanujan {d) Venn Diagram i T . i Bl a=0
. v z
(v) John Venn (¢) Vedic Ganit } AT e w g
(N Ganit Kaumudi (v) Prga & womds % dme By w Bm ow dwm owe %
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\Write true or false :

(i) All integers are real numbers, a2zSubjects.com

(it) logpaslog, b=1

(iti) Linear equations is of the form av+b=c. Where a=0
(iv) Banks deal in depositing money and giving loans.

(v) The point of concurrence of the angle bisector’s of a tangle is
called its centrond.

U 9 | aed ¥ duq faflag Sx1=5

_(i'l qEua 5y v 4yl +7x @ TR faflm o

(1) cosgo® & w= Bar ¥ 1 a2zSubjects.com

(i) wEE Bw & ods s fEen o & 7
(iv) Bpw & sfes & oftym faflag
(v) @t agds % dwww @ ga ey |

a2zSubjects.com
Write answer in one word / one sentence .

(i) Write degree of polynomial sy®+4r? +7x.

(1) The value of cps00° is -
(ii1) Each angle of an equilateral triangle is -

(iv) Write the definition of circumcentre of a iriangle.

(v) Write the formula of area of a parallelogram.

a2zSubjects.com
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SECTION - B
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__6"’ AABC ¥ afr _ q-y00° T AB=4C @ @1 £B ¥4 #PTY |

In A4BC if _.4=100° and AB=AC, find the value of £B.

A
1000 a2zSubjects.com
B C
s /| OR

gl wgly § AD=DC W AB=BC @ T AADB=ACDB ®@m 7 ol #
ot few wfea & 7

In given Fig. AD=DC and AB=BC tell that AADB=ACDB 7 If yes, then
by which condition ?

a2zSubjects.com

A | |
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A freafef # fema fafteg -

27Subi 2’ 10/ @ ABCD # vam #faw fowdt ws g 5 @ A ¥
() ¥=m azzsubjects.com Construct a square ABCD in which one side is 5 cm. ’
(@) =z ¥ | OR ‘
Write the definitions of the following - TH Wd w1 T FA fAed 2w e 4 wer Bua 6.2 aft am
{a) Centroid 54 ¥ % 0
(b) Median Construct a rectangle in which the two adjacent sides are 6.2 cm and
54 cm respectively.

wqa | OR a2zSubjects.com

@ Pl ¥ qen-av-a watrem @ g | /)'5/Qﬁ--l'mff@ﬂ‘ﬂﬁﬁ'ﬂﬁfﬁ;d%l!,fiﬁil?@ﬁ‘(ﬁxﬂfﬁizim/{

Explain Side-ﬁnglt-Sid;_{SAS] congruence of two triangles, bAoA A AR F B omme % 7

a2zSubjects.com

AABC ¥ wimand AD.BE ol CF g ¢ @ el ¥ 13 Grog @ 2
A GC F 9w wr oM ?

If A and # are two sets such that 4 has 12 elements, A has 17 and 4UR

.
has 21 elements. Find the number of elements in A~ 5.

@ | OR

In A ABC, median AD,BE and CF pass through point G. If GF=4 cm,
then find the value of GC.

s | OR
waiEE B arom, fe sfea fid o

Write the definition of congruency with figures.

a2zSubjects.com

97 o @ g oSN # wEd W oI 3:2 ¥ 1 afk omm B ahhy 2’
15 &% & @ e af gansll & Am owe AR

The ratio of adjacent sides of a rectangle is 3:2. If the perimeter of the
rectangle is 15 c¢m, find the measure of the sides of the rectangle.

#qq | OR

sraa # us e 6 99 ¥ | af amaw # oftme 20 Wh ¥, @ owd dw gend
i Sy

A side of a rectangle is 6 c¢m. If the perimeter of the rectangle is 20 cm,
then find the length of its rest of the sides.
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TRy 5 fem mie 99 woieli F ¥ ww @ #9 ww v orsw A ¥

In a commitiee 50 persons speak Hindi, 20 speak Tamil and 10 speak both

Hindi and Tamil. How many persons in the committee speak at least one
of the two languages ?

a2zSubjects.com
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Divide g3 by (V3-32). +|
g [ OR
T F OIS ®1F q s —

G-
N

Simplify by rationalising its denominator -

%;—fﬁ; a2zSubjects.com
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e o(x). R BAY
s defaem X 4000 ¥ @l @ oht 20% @ @ A Ba omn )é/ﬂ'ﬁ' plx)=x2 -ax+4 T g(x)=x-2, @ p(x)-q(x) B 77

g i 3

mma A : arr A hoam #ifm a2zSubjects.com
A television was bought for T 4000 and sold at 20% profit. ' .
Find the selling price. P If Pfx}=.r2 ~4x+4 and g(x)=x-2, find Pf-"]‘ﬁ'(r) and also its degree.

;@ | OR alzSubjects.com s7a [ OR
wwm-ﬂﬁmw?nﬁﬂ%Mﬁwnw%aﬁzm%mﬁamhm' 3
o, A wg w1 RmY g T AR ) THEYS #FAT 0 2x° - Tx-15.
Mm'kf:d price of an object is T 450. If 15% and 20% sequential discounts Factorise : 242 _7x-15.
arc given on the object, find its selling price.
Wi R AR T mmam T soR @ 3 A R i - a2zSubjects.com . 7]
I T A a2zSubjects.com ' Slog2 +log5 = log40. ©
If the simple interest of some money at the rate of 10% per year for Prove that i
3 years is I 150, find the principal.

Jlog2+log5=1og40.
dya [ OR
g | OR
: .
?34000ﬁ1ﬂ?ﬁm@ﬁ$aﬁﬂﬁiiaéwammmaﬂﬁw iz #ifwu B
Find the compound interest of T 24000 at 10% compounded half-yearly for log(mip) =logm +logn+logp.
]% years, Prove that
log(mnp) =togm +logn+log p .
/q_ﬁ - N g G G G 4 a2zSubjects.com

flx)=3x-2. @ £ & mw dfm | }./qmma;ggﬁﬁﬁwmﬁmﬁ 56 a1 @ kOt wem T @it 4
Let a real function f be defined at f(x)=3x-2 draw the graph of the \ On subtract 30 from the double of a number, we get 56. Find the number. * °
function f. a2zSubjects.com s | OR .

s | OR fedr wrd ® fiem ol W 8 R A AR b ) fem o W 12 B ¥ e
quﬁ'[fﬁ[mf-ﬁ‘sﬂai'T-Eﬁlﬁﬂl‘g@ﬂ!{lﬂ}-f“4~6:'»(_3-“2]@(0-3}ﬁr wEd ¥ lﬁmélfﬁqﬁitﬂmﬁéﬁmﬁﬁﬁw ?

frefim ayfi

Represent the points (2, 0), (-4, 6), (-3, -2) and (0, 3) in a Rectangular
coordinate system.
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Heena and Seema complete a work in 8 days. Heena can alone complete

the work in 12 days. In how many days can Seema complete the work ?
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o | N 2i1x+18 W WA .r+23-x+‘l LA T T 1 S
/uﬂ{ sm.&-i @ Rewra s 3cosB-4dcos’ B=0. 4 /Ii/a@mfT ¥ edrad WO e SER
AT
If sinB = 1 how th . aZzSubjects.com :
= s SNOw that - o - : .
2 3cosB-dcos’ B =0. The LCM. of ¥ vdx+a and x4 iixs1g is (v+2)°-(x+9). Find
o | OR H.C.F. of the polynomials.
W 4=60° T p-30°, frg @Pm sua | OR
_ tanAd-tan B u .
tan{A—B)—m- qETE 3_].3 6y -7 A y-=3 ¥ W 3T o ImE @i
f 4=60° and pg- 300, prove that Divide 1_,-3+<5J-_? by »-3 and find the remainder.
tan( A~ B)=tanA-tanB a2zSubjects.com
l+tan A tan A
a2zSubjects.com }/QFE HAR B A8 B WE T WS wiR E 3@ W 1w & 300 5
T F Al S A S 30 W E, & dem @ wfm @ T @i
/ﬂ/qﬁmﬂﬂﬂﬁaﬁmaﬁﬁqmgm X¥=7 @ yz=6 &0 7o 4~ = '

The angle of elevation of the top of a tower to a man standing on ground
LXYZ =40° & & P g on g

is 30°, If the height of the tower is 30 m, find the distance of the man from

Construct a parallelogram in which X¥ =7 em, YZ =6 cm and the base of the tower.

LXYZ =40°.

waa | OR
g | OR

UEw AT A A F 12 dey S ven ¥ e ol e ¥ ameme s ommn
s ga & B 3.0 AN ¥ | o o R W @ e @i 30° 3t 60° ¥ | AR B FAE @m0 a2zSubjects.com

The angles of depression of the top and bottom of a 12 m tall building from
the top of a tower are 30° and 60° respectively. Find the height of the tower.

v
|
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Radius of a circle is 3.0 cm. Construct a regular hexagon inscribed in the
circle.

Two coins are tossed together. Find the probability of at least one head. /SUUO T B 2% & e 5% aiffs wmwm @ @ =w B v s w57
a2zSubjects.com s | OR afaad wafwe da ¥ 1 g@ ofl ot e ww A

2 o @ T W ¥E UC I uemel @ mivww ww B s s @ A sum of X 5000 was given on loan for 2 years at 5% annual rate of interest

am 10 ® |

»

compounded annually. Find the amount of this sum.
Two dice are thrown together. Find the probability that the sum of numbers

v | OR
appearing on the dice is 10.
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Mohan purchased ] CCRE) A E Lt Eub LA
i Ci -

) Arpets for Rs. 7250, He sold them for Rs. 6090 ' 3 9 L ! 6 3 ]

‘ind the loss percent. | | wl

Make a cumulative frequency curve for following data :

fz )

/w/~ Ak fs h’_ﬁ'“ﬁ‘iﬁ B Wy ¥ wa P w1 fraE
TS TE qH B wiahE ww
Prov

Class 10-20120~30 | 30-40 | 40-50 | 50-60 | 6070 | 70= 80
Number 3 9 1 7 6 K] 1
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e that the line segments joining mid

) | -points of the opposite sides of 4
quadrilateral bisect each other

#Ta [ OR
AABC H 0, BC ﬂ‘l‘ﬁﬂﬁ‘f’&t 1 E,AD Tﬂmfﬂ?{i‘ | ey A A
l

. . . a2zSubjects.com
PR T (r_\- ABL]"E'- EE (ﬁAH{‘}.

In AABC, D is the mid-point of BC. F is the mid-point of A/,

Prove that area (A ABE}:% area (AABC).
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/g.ﬁﬂ‘hﬁaﬂ&lqﬁidﬁaﬁ-mﬁﬁmq:

Tl | 10-20]20-30|30-40|40-50]|50-60
Er-a 4 6 o 5 3

Make a histogram of following distribution :

F
Class 10-20 | 20-30 | 30-40 | 4050 | 50~ 60
Frequency 4 6 10 5 3

wqn | OR
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